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Attempt aIl the quesz’xons jrom Secii R"f nd fow quesnons ﬁom Sectigh 1]
The mtendea'marks for quemom or partso Tyuemons aréggiven in brdetets [ |

S

— .i" thc ﬁrst 40 tcrﬁ%of an AP whose 4"' term i 1s 8 and thf: | B

. . S] ﬁndl?l%b‘@rde‘%f Matan

Nl th atan

o 3
Variate i ___24 ; ;
: Frequency 5 = 3

-23; "" .
2y A e \)‘i‘; (5]
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eodi i) # Mm‘ ar “_‘l
' ), 9021263 (11 PR 3

/1)) In the figure, Dlm a chond pnullvl lo the dinmeter AC uf.l(nc'lt, wnh centre (),
It /cm) §7°, ealenlate [ m ' ' ]

@ lf X= \h% b Ij.’-_jh ,plOYc(lhll Jl)x ?'1 ) R S .._[4]"‘
. \Ja+3 \1'\“'\5‘ L TLIE AR ‘ .

"

Qucshon 3.

) Kohh owns 560 s}nrcs ofa company N
The comp'\ny dcc]'\rcs a dwulend of 9% Cnl“‘i %

_75-‘ - -—mc dmdcnd lfmt Mr. Kohh wxll Bot.

n thc rate. of mtercst on his mvcslmenl if he p.nd Rs “‘G)for cach G

3]
;_:'[3'];

[4]

vvvv 4 20 unt ina bank and dcposned Rs 300 per month for
Fgall thc umc of matunty, ﬁnd lhe rate of i interes}

w0 [3}11

peran,m.m. a

o

4
. 0SS e

\y/Use a graph paper for thxs quesl;on, Take lcm =1 umt along both x—ams and y- axis.” [4] o

Plot the pomts A(O 3), B(2, 3) C(3 0), D(2, 3) E(0, 3)

b Ref]ect pbmts B C and D o lhey ax1s to gel B, C and D’ respcctwc] y. T
Wnte the co-ordinates of B, C’ and D’ |
i Wnte the cquauon oflme B D N , 7 i

iv. Name the gue BCDD'CR'S |
Momlefgescovemy
A LI PRI § 3
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SECTION B (40 Marks)
g |

M{cmpt any four qm’ (mm from (his Section,

Question 5

a) In the given ﬁgurc ABisa dlamucr The tangv ntat C meets AL at f) If [__/ B 34°
find i /CBA il L{;_OA . 3]

'-’0) vae the fo]ldwing identitj" E

@f*‘

}'f'rs ina detOf/ lr'ula!c tl’ mean o/

y

" [Wages(Rs) | 45-50 | 50-55 | 55-60 | 60-65%] 65- 70 2;;.7, 1580
2 e 1

c) 'I'hc following table gnvea the wages oi‘f\’a"/é
= “Step- Dcv1auon mcthod :

- - w7
] . oo
| Workers |l 6.
tl ,‘ -
Stion 6 ,@

Dra‘f;ﬁ%@o(mdms 3.5cm. M&rk a pomt I" OUlSldC the cm,lc ata dlstancc of 6em
ftom the ccnf%”zﬁ‘onmuct two. tang%pts from I “to the given circle, Mcasure and write

* down the]cngﬂl;ﬂ % ldﬂgem - [3)

\)rérnc studcnt.; planncd 2] '* k. The budgCt for the food was Rs 480 As elghl of thcm '
& the food for each mémber zncrca,cd by Rs 10. Find

how many swdcms went for thegptenic. .. . . | L B [4]

(‘ uestion 7

.,ai’Slxlcen cards are labcllcd asab,c, ...l..,m o, p. They are put in a box and
shuffled. A boy'is asked to dravrd from l‘ncbox What is the probabxhly that the
card drawn is: .- avowel. o

' .. ji.--a conspnant - -
-i,ii., nonc o&thc lcucrs of lhc wosd mcdlan o1 t - [3)

N

i = .’, ; J_, , g e
L,b’)’l’flhc lines y = Jx +7] and 2y 7 px= 3 are pcrpcndlcular !o mch othu ﬁnd lhc
value of P B e ' s T BT ot ‘
. " ~” ; . A
' ' ARAD I r 7 roon s e (11
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© {0) How many terms of the G.P =, ==, =, ..., ... must be adeed to pet the sum
How many U 9 3yl & !
55 ¥ '
ennal ta — 7 X " . 4 ’
oz )

Qucshm q

a) Salman gets Rs. 6455 at the end ofone year at arate of 14%

Pef_ annum ina recurring ;jepoéii.
account }'md the monthly mslalment : PR

Bl :

1) mdnus of the Iloor
u)_hexght of the @mm’l 2}

Question & |
a) The inner di‘a'ineter'
thc curved surtasge

“ s

._ [41 f

b) The ma.rk_ ‘ a'ing:d by 200 stu ats in-an eXamination a‘-é gw.er_x bdm.v a5 failotss = LR

[6]
s E#a? D |20 130 [ 1050 7506 £0-70 |70-80 T'80-90 [50-100
I r!udor"'., 35- “’é{ _ 4»0. LR RS 6.—

) _1'. median % & 5

"2, lover quamle ' "
3. nuimdzr of ‘students S obtamed more than 80% mnrkc
4 number of students W 1d not pass lfpaSs percemaoe was 35

Use the scale 2cm = 10 marks on one axrgand 2cm =

' [{cstmn 10

3 Fmd xandy1f 3

= 20 "St;\'jzde}lr:ﬁ_s Qri _lhe o_t_}ier axis.-

Ll

| é‘) Drawa histogram and hence estimate the mode for the following freq'_ugncy distribution.. . - [3]

1
s == . ] s KRR
Class 0-10 .10-70 20-30 | 30-48 | 40-50 | 50-60 |
_f“’q“ﬂ__‘f D) 5 <4 | 3 |-
nany EPOI TR RO e
Amp“ll !‘\_'.t L H f\’ Eﬂi UISU\J| . R -~
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N5

1/Two people standmz on the same szde of a tower in a ‘Strai ght lme thh it measure 1},3 ;mo[e,
of elevation of the top of the tower as ?5“ and 50° If the helght of the tower is 70m find
the distance between lhe two peop!e o B R

/S
/Qﬁcstion 11

ln A ABC, AP: PB 2 3 PO s paralle] to BC, and is e}.tended to Q o that CQ is parallel

to BA Find, - B
. A (& APO) A(A ABC) -
2 A (A APO) A(A CQO)
B
%{f’ -_ Q on the x-axx 2Rin
i, _ :
iii. _ . [4] :
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